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1
Xi, X, X p (
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1 , . 1
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p ’ ’ P

21.5+4.29x1-3.77x2-0.059x1"2-0.015x2"2+0.004

4x1x2 12,18,0.1 50
2 X 12 18

0.1 3
X 50

3x1+2x1x1-0.1x1"3
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24

11.
11.
12

00000.829510.700012.9000141.9000
50000.72999.325012.7750146.9125

.00000.61907.800012.6000151.2000

12.50000.49496.125012.3750154.6875
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14.5000-0.1891-2.075010.9750159.1375
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€1130.49655.94341021.95650
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c14-0.1110500.1269800.874600
c15-0.7343700.06880010.67470
c16-0.0411700.1284100.320600
c17-1.32036014.732910.089600
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X=130 . 49648*EXP(0.00916 £)

1
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2
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ARMA(3, 3)
Xe=-1.3204+0.2116X%,-0. 32233 X.+0. 154719 X,.,-0
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A1C=37.4794 R=0.9952 C=99.04%
12
(1986)  (31.1)
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0 1
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I ¢ A X [0,1]
A
5
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X, 15 A(x)=0.75
X, 98 A(x:)=0.98
Xx: 30 A(x)=0.30
Xs 60 A(x)=0.60
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2 4 X 0<A<1
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3 AB X
A
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A(D)=1 A(X)
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/ 0 1
5 A B nnxm mx I

C-AB nx I

C(a, Ob,)

Cij= (r=1,2, ,n;y=1,2, ,0NH(20.1)
a b=max(a,b)
a b=min(a,b)
:1)(AB) C=A(BC)
2)AI=1A=A 3)A0=04=0;4)A = A;5) A B
ai<bi;( ') A<B A<B, AC<BC

CA<CB
2.
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obogoboogobogoon
B
X(1)121.000000500.000000148.979746210.689178
X(2)1497.0000004600.0000001243.9473461759.20
7208
X(3)27.00000036.0000003.3115964.683304
X(4)9.00000019.0000003.5777095.059644
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2
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X(2)25.0000002700.000000948.2482861341.02558
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X(1)34.0000002243.000000725.4704081025.97009

X(2)401.0000007452.0000002400.9240933395.419

X(3)31.00000039.0000002.6692703.774917
X(4)18.00000029.0000003.7321005.277987
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1
157 970 2309 |-206 |19 |1
16.3 |1260 |2085 |-17.3 |28 |1
15.7 1129 (2039 |-94 |33 |1
17.2 1422 |1726 |-95 |46 |1
18.8 | 1874 |1709 |-49 |80 |1
17.9 11698 |1846 |-45 |75 |1
163 976 (1239 |-46 |56 |1
16.2 1492 (2000 |[-82 |62 |0

30-4

( 1)

1
x10.5000522.0000309.000012 . 40004 . 3000
x20.1000232.000085.00009. 10003 . 4000
x30.5000363.000039.00001 . 20002 . 9000
x41.000070.0000274 .00001.30001 . 6000
X52.6000382.0000291.00003 30001 .8000
x61.7000206.0000154.00003 70001 .3000
x70.1000516.0000761.00003 .60000. 6000
pal R(1)

1.0000.1670.5000.6670.8390.7730.167
0.8331.0000.8330.9090.9630.9440.500
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1.0000.
0.5771.
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.7170.
.5030.

.0000.
.7841.
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0910.
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0560.
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3901.
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3780.
5300.
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6851.
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2260.
3560.
1000.

4230.
0000.
8831.

0000.
3331.
1610.
2270.
8330.

4100.
6100.
0000.
8381.
4870.
6380.
4130.

1120.
3150.
0000.
1251.
1180.
2020.
0490.

0880.
1170.
0000.

6670.8390
0000.7220
2781.0000
3700.6051
9090.9630

R(2)

1180.4230.
2320.6220.
1620.5130.
0000.8450.
1551.0000.
2540.6501.
1190.4250.

R(3)

4700.4850.
7630.7740.
8750.8820.
0000.5150.
4851.0000.
6400.6541.
2650.2770.

R(4)
0950.2100
1250.2660
5200.7330

.7730.
.6300.
.3950.
.0000.
.9441.

.2300.
.2890.
. 7550.

2830.
4700.
3620.
7460.
3500.
0000.
2851.

3330.
6440.
7980.
3600.
3460.
0000.
1681.

167
091
037
056
000

497
690
587
881
575
715
000

711
900
951
735
723
832
000

225
283
750
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0.9050.8750
0.7900.7340
0.7700.7110
0.7750.7170

OOOOOOI—‘Eﬁ

€y

.0000.4420.
.5581.0000.
.5970.5401.
.7290.6800.
.7050.6540.
.7680.7230.
.8780.8500.

.4801
.2670
.2450
.2500

XLX2X3X4 X5

12767729.00
21326618.00
32411513.00
43142313.00
55553422.00
64235216.00
71674119.00
)
313.0000
413.0000
616.0000
218.0000

4030.
4600.
0000.
6441.
6170.
6900.
8290.

.0000.
.2831.
.2600.
.2650.

7170
0000
4711
4780

R(5)

4711

2710.
3200.
3560.
0000.

5520.
7270.

2950.
3460.
3830.
5290.
.0000.
5811.
7500.

.7400.
.5290.
.0000.
.5071.

2320.
2770.
3100.
4480.
4190.
0000.
6841.

735
522
493
000

122
150
171
273
250
316
000
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( A)
U :U0={
} ={ : }
( )
DPS
U
(
A=(0.3,0.2,0.2,0.2,0.1)
30-5
\
0.45 0.25 0.2 0.1
0.50 0.40 0.1 0.0
0.30 0.40 0.2 0.1
0.40 0.40 0.1 0.1
0.30 0.50 0.1 0.1
0.30 0.20 0.2 0.2 0.1
30-5
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A) “
” 35-29%,“ ” 29-41%,“ ”
23.53% * K 11.76%
5
1.
nof-. R ooCBT- oo~ R oDoOOf-
A.R=B A.R=B
DPS
( 1983) XoR=8
Oy rp A N0
A m
(X0 Xgreoos xn)xgil 2 rf\ O (01,0, biy)
O O
M T2 A Tom[
O]

O (rll |:|Xl) D(er |:|X2)|:|...|:|(rn1 DXn) = bl
@(rlz DXl) D(rzz DXz)D...D(rnZ DXn) = b2

l:l e s s aas aas e
Frim O%1) O(rom Ox2) 0. O(rm OX,) = by,
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b fij <b; T
roi

B, (>b)
E (F, <b)

3)
UR=(ur.,ur,

4)
j b,
b; iy <bj fi
P e
B <b

(5)
] UR;

(6)

,ur,)

3|
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DPS

2.DPS

30-6
50
0.04 030 |0.40 |0.26
(X1)
0.24 |028 028 |0.20




(X2)

0.10 |0.34 040 |0.16
(X3)

0.02 |0.26 040 |0.32
(X4)

0.13 |0.28 042 |0.17
(X5)

0.14 | 027 030 |0.29
(X6)

0.03 |0.14 042 |041
(X7)

0.15 |0.29 034 |0.22
30-6

0.2200<--x(1)-->0.22000.1325
0.1500<--x(2)-->0.15000.0904
0.2900<--x(3)-->0.29000.1747
0.0000<--x(4)-->0.22000.1325
0.3400<--x(5)-->0.34000.2048
0.0000<--x(6)-->0.22000.1325
0.0000<--x(7)-->0.22000.1325
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6
1.
A
B
A
A R R
DPS
J={A, A, , A}
{A, A, LA} Ai
DA]_OR— Bl
@AZ oR= BZ
e oo o
X A R HA, oR= B,

(A.B)=5[A.B+a-A 8]

B AL,A, LA

XoR=B
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2.DPS

B A,
€y
U
U
U={ :
V={ ; 3
30-7
\
0.2 0.7 0.1 0.0
0.0 0.4 0.5 0.1
0.2 0.3 0.4 0.1
0.0 0.8 0.2 0.0
30-7
(2) (A

30-8
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ctrl

0.2 0.50 0.30
0.5 0.30 0.20
0.2 0.30 0.50
0.7 0.25 0.05
30-8
(
A
1 =0.6500
2 =0.7000
3 =0.6000
4 =0.8000
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1 =0.7000

=0.2500

3 =0.0500
X*

X*=(0.7,0.25,0.05)

A
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(4)

(2)

55> N P o~

{XPO), {(X2m) A, {(XPO)}

(N
XZ

(h
XZ

(2)

(m)
XZ

- >

N

« )
{6 (OI(t1,2,
(1)

€Y
3) ®3)

(t=1,2,

m
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( )
a)
0 1
b)
0
c)
0 1
(2)
{%6(D}
{X(D} =k {6 (K} {X:(K)}
L, (k) = s
Loi(K) 4, (K)+PA,
2i(K) k

2oi(KD=0 () -x:(K)O(LLi<m) A Duin
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Amin 0 10
pd(0,1)
0.1~0.5
( ) Amin ] Lia 1 Amax
0</<1
€))
1
1
0 0
1 N
"oi =$JE;Lm(M
Foi i 0 /V
( )
-
t
‘ ¢ )
22-1 SOi
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Soo
1N
s 1 fo|=Soi=NkZlLoi(k)
1) Xo
2) X;
3) 0( )
4) N
5) p
1) re 1 2) “hi o 3)
o> sy o> Foc ha> hoc
(4)
m
{%
“ ” Io2> oy {X:}
{X%} {X:}
{ X1 Xo} 0 { Xy X} ro:<los {X:} {X}
{X} {Xa [ Xo} m{ X, Xo} l. Fos {X}
0} {6} {6 x3~{%]
X} r=rs X} {X:} {X:}
EXal Xok 01,1 X0} FoS o {x}

{ Xal X} Tf{xblxo}

{4} {4}




{5
1] ” (d))’u
(r) ) {5
(5)
n {n}.{r}, .{¥}(= 2) m
{46y, {60 1)
{)/1} [r11,r12, ,rlm] {)/2}
[, ey 6]
{yn} [rnl,rnz, ,rnm]
ri(1=1,2, ,n;J=1,2, ,m
R ]
Dng Dlj%
%\i/n% > %\E (Oi,j 012,A ,n, i #]))
0 o 0 O
i O Hm O
{7}
Vi X(U=1,2, ,m) 1}

{ro{v} =24 .mijzi

Isrsisn  Gi=12a.n jzi)
N =1 N k=1



65

180,
{X}(i=1,2, ,m)

OO jogr.2, Ly D)

R
i
ol
FalspFss

rnlrn2r/73 rnm

RA [Y1(0{2,3,
2.DPS
DPS

q

XXXz Xig

Xo1 X020 X0z  Xag

Xn1Xn2Xn3 an

XXXz XpVuVi2)is Vg

.11})
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X1 X2 Xo3  XopVo1)22)/23

Xn1Xn2Xn3 anynl_ynzyn3 ynq

1)

®3)

(0.1)
4)
« yr
“ N

DPS

(2)

Amin

Amin
Amin

Amax

33-1
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X1 | X2 | X3 | X4

39.1/458 |34 |6.7

416 | 43.4|3.3 | 6.8

43.9142.3 |35 |54

A ITWIN|PFP

449 1419 |35 | 4.7

33-3

0.1
Amin 0

pal
X10.00000.00000.00000.0000
X20.13380.01940.06020.0930
X30.07000.01820.01410.0377
X40.21290.17080.12070.2630
A max=0.26298
G6(1,2)=0.315896(1,3)=0.481536(1,4)=
0.12828
X3>X2> X4
X2
X10.13380.01940.06020.0930
X20.00000.00000.00000.0000
X30.06380.03760.04610.0553
X40.07910.15140.06050.1699
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A max=0.16994

6(2,1)=0.238426(2,3)=0.256376(2,4)=0.14699
X3>X1>X4

X3

X10.07000.01820.01410.0377
X20.06380.03760.04610.0553
X30.00000.00000.00000.0000
X40.14290.18900.10660.2253

A max=0.22529

6(3,1)=0.446476(3,2)=0.313196(3,4)=0.12700
X1>X2> X4

X4

X10.21290.17080.12070.2630
X20.07910.15140.06050.1699
X30.14290.18900.10660.2253
X40.00000.00000.00000.0000

A max=0.26298

6(4,1)=0.128286(4,2)=0.208626(4,3)=0.14497
X2>X3>X1
1.000000.315890.481530.12828
0.238421.000000.256370.14699
0.446470.313191.000000.12700
0.128280.208620.144971.00000

(2)
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(1995)

DPS
31-2
X1 | X2 | X3 X4 | X5 |Y1
vi | 788|143 |289 |748 |17.7|1974.0
v2 605134 339 899 |16.8 1688.4
v3 743137 |265 709 |17.7 17865
v4 693|143 |348 |83.6 |19.9|1796.6
V5 | 770126 |27.9 |754 |20.0|1796.3
V6 | 765|124 215 |553 |18.1|1826.1
V7 |67.5/11.0 |248 700 |20.3 17155
v8 787122 |30.6 |8lL4 |18.3 19915
Vo |76.1133 380 947 |18.4  1847.4
vi0| 755131 (231 |628 |17.0|1854.6
31-2 (
)
31-2
1
0.5

Amin



70

[} N’

0.91621.2506-0.0187-0.0900-0.57701.5056
-2.20020.36440.91631.1682-1.2981-1.4333
0.14990.6598-0.4675-0.4150-0.5770-0.4239
-0.70161.25061.08460.64331.1860-0.3199
0.6096-0.4234-0.2057-0.04001.2661-0.3230
0.5245-0.6204-1.4025-1.7149-0.2564-0.0164

-1.0081-1.

9990-0.7854-0.49001.5065-1.1545

0.8991-0.81730.29920.4600-0.09621.6857
0.45640.26591.68301.5682-0.01600.2028
0.35420.0689-1.1033-1.0899-1.13790.2769

1

X10.58940.
0.78650.25360.
X20.25501.
2.50300.06310.
X31.52432.
1.38651.48011.
X41.59562.
1.22571.36541.
X52.08250.
1.78180.21891.

76680.57370.38170.93270.54090. 1464
0773
79771.08361.57060.10040.60400.8446
2080
34960.04361.40450.11731.38610.3691
3802
60160.00890.96320.28301.69850.6645
3668
13520.15311.50591.58910.24012.6610
4148

A min=0.00890 A max=2.66097

6(1,1)=0.746606(1,2)=0.67148G(1,3)=0.596746(
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1,4)=0.584336(1,5)=0.61111

X1>X2> X5> X3> X4

0.746600.671480.596740.584330.61111

2 (G
3 GM(1,1)
GM(1,1)

1. GM(1,1)
2.DPS

DPS

GM(1,1)
C )
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(1994) 1960~1986

GM(L,1)
DPS
3000
3000

Y=,/ (3), . y7@N}

={584,775,2888,1343,4435,2652,1530,3117,954,
410,428,2920,464,5870,270,12385,4284,2920,1799, 1
527,6148,2242,7295,2378,2533,453,1384}

ErOy={%"},  £23000

(0) (0) 0)
{ % @, % O, , T (@D}
{12385,4435,3117,4284,7295,5870,6148}

0% (2t ¥ (HOX  i0{1,2,3,4,5,6,7}

e X
XO={x¥?(1),xX°(2), X)), ,xX*(71}={6,11,12,
15,17,23,25}
GM(1,1)
( 22-4)
( 31-3)
GM(1,1)
)
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:a=-0.178152p=8.481744
x(t+1)=53.609524e0.178152 t+-47.609524
%

X(2)=11.000010.45420.545754.96
X(3)=12.000012.4929-0.49290-4.11
X(4)=15.000014.92910.070890.47
X(5)=17.000017.8404-0.84039-4.94
X(6)=23.000021.31941.680607 .31
X(7)=25.000025.4768-0.47683-1.91

(=0.1353
p=1.0000

3
X(t+1)=30.44500
X(t+2)=36.38200
X(t+3)=43.47675

*k*x *k*

1

a=-0.21461046=0.219015
x(t+1)=2.2829200.214610¢+-1.020524
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X(2)=11.000010.45420.545754.96
X(3)=12.000011.77700.223011.86
X(4)=15.000014.83690.163091.09
X(5)=17.000017.8394-0.83943-4.94
X(6)=23.000022.35980.640232.78
X(7)=25.000025.0856-0.08564-0.34

(=0.0783
p=1.0000

3
X(t+1)=31.32643
X(t+2)=37.64597
X(t+3)=45.21485

*k* *k*

2

a=0.0571666=0.606903
x(t+1)=-9.940109e-0.057166 £+10. 616449
b

X(2)=11.000010.45420.545754.96
X(3)=12.000011.77700.223011.86
X(4)=15.000014.71290.287131.91
X(5)=17.000017.5216-0.52161-3.07
X(6)=23.000022.85240.147600.64
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X(7)=25.000024.91070.089330.36

(=0.0523
p=1.0000

3
X(t+1)=31.31251
X(t+2)=37.60764
X(t+3)=45.15345

1987~1991

4 GM(2,1)
1. GM(2,1)
2.DPS
GM(1,1)

(1985) GM(2,1)
DPS
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31 4
GM(2,1)

al=25.365842=-0.9621(75. 41002
r1=0.03787r2=-25.40371
C1=81.359862=-0.00435
x1(t+1)=81.35986€0.03787t+-0.00435e-25.40371
t+-78.38051
x0(2)=3.24574 3.27800e=0.03226¢=0.9841
x0(3)=3.26161 3.33700e=0.07539¢=2.2593%
x0(4)=3.38750 3.39000e=0.002500=0.0737%
x0(5)=3.51826 3.67900e=0.16074q=4.3692%
(=0.2381
p=1.0000

:G0=16.2871067
AXL(6)=19.94116"x0(6)=3.65406
AXL(7)=23.73626"x0(7)=3.79510
AXL(8)=27.67785"x0(8)=3.94158
5 GM(L, M)
1. GM(L,M
2.DPS
DPS
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r— XuX2Xi3

| Xo1X22X23

Xon

L — Xin XX X
u S GM(L, M) ”
1978-84

1978 5344 4500 | 734
1979 6724 5279 | 1345
1980 5968 4442 | 1526
1981 6373 4697 | 1676
1982 7309 5485 | 1824
1983 8509 6019 | 2490
1984 11542 7875 | 3668

33 56M(1,M)
1978~1984 31 5

GM(1, /)
B

GM(L, A)
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MatriXAij:
-8706.000-15052.000-21222.500-28063.500-3597

2.500-45998.000

9779.00014221.00018918.00024403.00030422.000

38297.000

2079.0003605.0005281.0007105.0009595.0001326

3.000

(-2.

Ng=2.08515"p1=2.13172"b2=1.94612

X11.0223

X21+0.4796S

X10.9333

X31+0.4796S

Ax1(t+1)=(5344.00000-1.02233x2-0.93332x3)exp
085151)+1.02233x2+0.93332x3

Ax1(1)=5344.00000  5344.00000

Ax1(2)=11118.23793  12068.00000
Ax1(3)=17709.20981  18036.00000
AX1(4)=24233.02974  24409.00000
Ax1(5)=31572.98063  31718.00000
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%

"x1(6)=40055.60594 40227.00000
Ax1(7)=51530.76365 51769.00000

x0 .€ 2%
Ax0(2)=5774.23796724.00006=949.76219=14.12%
~x0(3)=6590.97195968.00006=-622.9719g=-10.44

"x0(4)=6523.81996373.00006=-150.8199g=-2.37%
"x0(5)=7339.95097309.00006=-30.950949=-0.42%
"x0(6)=8482.62538509.00006=26.3747g=0.31%
Ax0(7)=11475.157711542.00006=66.84239=0.58%

x” _  1.0223 x® _ 09333
x  1+04796s x® 1+0479s

1.5~2
1.5~2

BP
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Hopficld
Feldmann Hinton
Rumelhart
Kohonen
50
1985 Rumelhart
BP Minsky 34-1
34-1 BP
BP 1
S
1

t) = e
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n
Sigmoid
] O,
(Xk’yk)(k=1,2131 IA01 Xk
i Ok, J
Zvvijom
netjk— [
1 N
E=2Y ()
=1
Y
_ 0E,
ik~
Ec(A-5)’ ety g.=f(nety),
0E, _ OE, Onet,  9E, o
- - ik
oW, onet, OW,  oOnet; =3 ;<0
_i 0jk=J7k
aEk a&k 1
= oy e =y Y (et
ik manetjk k Yk i (34.

J

Sigmoid

Y,
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00,
Oy = % - % e - O f'(net;,)
onet, 00, onet;  d0;
0E, _ OE, Onet ,
00, & onet, 00,
OE, 0 W0,

:;mmmmhl

JE
- ; anetkmk .ZW“ ) Z O

S 5jk = f'(netjk)z 5mkaj

00E, _

oo = 9Ok

o,
M M
BP

a. k=1 N

a). Oi, et

b). o2

Vi

(34.2)

( )
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b. J M, (34.1) (34.2) 0 ix;
OE
Wii=Wes- oW, ,u >0,
OE _ L oE,
oW, 4w,
BP BP 1/0
2 DPS
DPS
( )
( )
C )
( )
( )
ctrl

34-2



o | e |

34-2
( )
75% 7 1
5 7-5-1BP
4 5 6
Wi
0.5~+0.5
BP

DPS
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0.9

0.6~0.8
0.001~0.00001 2
1000
Sigmoid
0.9~1.0
DPS
3
1 6 5
6 5 5 6
7 2
0.9 0.7 0.5 0.3 0.1
BP 1982~1991
1992 1993

( 34-3).
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A [ B ¢ | D E F | 6 | ® | 1
FHEH1N6 ARK BAEwt s B#ok e AR FER

L| 6 Gae am ARROARR LT ey T
[2 | 1982 713 6 650 737 48 3 59 0.7
(3 | 1983 794 7 648 T84 68 7 52 0.9
(4 | 1984 58 6 619 760 63 4 63 0.3
(5| 1985 433 10 604 746 67 12 63 0.3
(6 | 198 367 7649 7T 56 4 57 0.9
L7 | 1987 189 9 631 739 59 9 63 0.1
(8| 198 111 6 596 765 67 6 62 0.9
9 | 1989 90 9 643 753 54 6 57 0.5
(10| 19%0 105 8 607 743 62 8 64 0.7
11 1991 92.3 10 610 738 58 9 63 0.9
[127| 1992[ 2608] 8 615 770 63 9 62 0.9
(13| 1993 1356 7625 719 65 8 57 0.9

IH144 [P vl [Eem ) Bom ) ok Emmzds || 4| |
34-3BP
BP , 34-3
7 1 0.1
0.7 Sigmoid 0.9, 0.00001
1000
1] ” (
5) 1000 0.0001427
C )

1
1.6327102.4498203.0897100.2127105.392370
1.6274202.6001101.9875505.2404103.146180
1.7438302.0563005.2384800.5505900.380470
1.6308303.1634002.5134803.6583000.965040
1.6292901.0916000.6772300.7448802.091490
1.5456001.6525400.8966701.1618102.270320
1.6110404.5644601.9452300.7099802.607020
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-1.488610
-4.286470
-5.201220
5.492000
4.719190

1992 1993 2
34-1

(L.A.Zadeh)

1965

10

BP

BP
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XUOA

A(X)

[EEN

100

XA

DPS

XxOA
xOA

[0,1]

X [0,1]

X= X1,%2,X3,%Xa,Xs  [0,1]
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X; 85 A(x1)=0.85
Xo 75 A(X2)=0.75
X3 98 A(x3)=0.98
Xs 30 A(x4)=0.30
x5 60 A(x5)=0.60

A=(0.85,0.75,0.98,0.30,0.60)
2 A X
Ar= x xXOXAX=2A , AN A A
AN

A(0=A<])
A
A
AN 1N AN,
3 A B X
A
(AOB)(x)=max(A(x),B(x))
(AOB)(x)=min(A(x),B(x))
A(X)=1 A(X)
4 [0,1]

5 A B nx m mx |
C=AB nx | |



90

O(a, Ob,)
Cij= (i=1,2, ,mj=12, ,1)(20.1)
a b=max(a,b)
a b=min(a,b)
:1)(AB)C=A(BC)
2)Al=IA=A 3)A0=0A=0;4)A = A5 A B

aij<bj;( i) A<B A<B, ACsBC
CA<CB
2.
6n X
XxY= (X)Y) xOXydy , XxY X
7 R XXY
1) ‘(Y OR
2) D (xOR - (yx)UOR (x.y)
R , (yX R
3) ‘(XyY)OR (y,20R (x,20R
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(1)
(2)
R,
R
DPS
|:}(ll X12
X = 0
U
D(nl an
8
(3

17
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X| XJ
0
R*=(ry)) Ni=«=1(lik  ry) Xi X
K Fik T Xi Xj
min(rig,rg) K )
ik Ty XX R™
XJ' ,
ry
R
R R? R
R*=R=R’ R :
(R)
(R)
(4) R*
A R, R
A A=1
A
4.DPS
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(1)

1 2.
, S [13
Windows
" Pattern
n
X
joe]

.BMP"



a b=22,

A(x)=§‘§x;*ag x-a<b
H o

x—a>b
n m i
O
O |:lx_ai(il) 32 1 1
m-—0 al’ b, <x<af’
E H b H
A =01 al’ <x<al?
él i _ai(iZ)%z @) @
I I A
E 0 a{® +b; <x
oA
2 2 2 . .
bj =20y 0 I J
(2) n (AA2, AN, m
& 2 ) .
a’ At B (=12, nj=12, m)

D _ 2)
af’ =min(x;) aj —max(xij)’b,2 =20% o, X;

B m aj,bj(j:1,2, ,m)
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S 0 a; <af’ -(b; by,
O 1Ebj_a'(jl) (1)
-= ' al (b -h;)<a, <al!
E— ZQW% j (l QJ) i j
A
0, 1H8 -aj (2) 2
E1 ng% a;”’ <a; <aj+(b; +h)
g0 a;” +(b; +b; ) <a,
:Jrsr}er}w(Aj'B) Sozlgqjasxn(
B Ao
1 (1962|344 |3333 (29 |9 969 |191 |1
2 1963|121 | 1497 |27 19 (1237 1134 |1
1964 | 187 | 1813 | 32 18 [9.70 |1.06 |1
2711988 | 162 | 2817 | 34 21 [2.64 |0.00
28 11989 | 760 | 877 |39 33 |1.15 |(0.00
29 (1990|458 [199 |35 [27 [0.43 |0.00
30-3

DPS
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2.DPS

20 100

. ) 1988

30-3

1
obogbboboboouobogoboobngoooboogd

oobogoobgoobn
B

X(1)121.000000500.000000148.979746210.689178
X(2)1497.0000004600.0000001243.9473461759.207208
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X(3)27.00000036.0000003.3115964.683304
X(4)9.00000019.0000003.5777095.059644
X(5)8.00000012.3700001.6712082.363445
X(6)1.0600001.9100000.3411550.482466
Jooboobbooobooooboooboobooboog
oooooooooon
2
obogbboboboouobogoboobngoooboogd
oobogoobgoobn
B
X(1)19.0000002100.000000587.039979830.199901
X(2)25.0000002700.000000948.2482861341.025587
X(3)22.00000040.0000005.0472137.137837
X(4)14.00000028.0000004.3234606.114296
X(5)0.13000010.9600002.7547763.895841
X(6)0.5500004.1700001.0928981.545592
obogbboboboouobogoboobngoooboogd
oobogoobgoobn
3
Jooboobbooobooooboooboobooboog
oooooooooon
B
X(1)34.0000002243.000000725.4704081025.970090
X(2)401.0000007452.0000002400.9240933395.419414
X(3)31.00000039.0000002.6692703.774917
X(4)18.00000029.0000003.7321005.277987
X(5)1.90000011.7900003.2501084.596346
X(6)0.0000001.0900000.4628170.654523
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obogbboboboouobogoboobngoooboogd
oobogoobgoobn

gotdboogbobobobobouououod
gogbuooobobd

10.425643

20.897723
obogbboboboouobogoboobngoooboogd
oooooooooon

1989 1990
1.
X X Xk
Rij
(1) Rij [05,10] X X

(2) Rij [00,05] X X

(3) Rij=1
Xj Rij:O XJ X

Rij:0-5 X X
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Ru X X
Xk
ry = dy
dki+dkj
Ri=1 R
=X dig=[X-X]
X={X1,X2, ,Xn} X X x0X
0 r, 00 q
R=(ry)[hi=% 2 A, n
A
A A
1
A
m

2.DPS

Xk
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(1981)

DPS
30-4

15.7 970 2309 -20.6 1.9
16.3 1260 | 2085 -17.3 2.8
15.7 1129 [ 2039 -9.4 3.3
17.2 1422 11726 -9.5 4.6
18.8 1874 | 1709 -4.9 8.0
17.9 1698 | 1846 -4.5 7.5
16.3 976 1239 -4.6 5.6
16.2 1492 | 2000 -8.2 6.2

o|lr|r|lr|r|R]FR|F
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30-4

1
x10.5000522.0000309.000012.40004.3000
x20.1000232.000085.00009.10003.4000
x30.5000363.000039.00001.20002.9000
x41.000070.0000274.00001.30001.6000
x52.6000382.0000291.00003.30001.8000
X61.7000206.0000154.00003.70001.3000
X70.1000516.0000761.00003.60000.6000

X1 R(1)

1.0000.1670.5000.6670.8390.7730.167
0.8331.0000.8330.9090.9630.9440.500
0.5000.1671.0000.6670.8390.7730.167
0.3330.0910.3331.0000.7220.6300.091
0.1610.0370.1610.2781.0000.3950.037
0.2270.0560.2270.3700.6051.0000.056
0.8330.5000.8330.9090.9630.9441.000

X2 R(2)
1.0000.3080.4100.1180.4230.2830.497
0.6921.0000.6100.2320.6220.4700.690
0.5900.3901.0000.1620.5130.3620.587
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0.8820.7680.8381.0000.8450.7460.881
0.5770.3780.4870.1551.0000.3500.575
0.7170.5300.6380.2540.6501.0000.715
0.5030.3100.4130.1190.4250.2851.000

X3 R(3)
1.0000.2160.1120.4700.4850.3330.711
0.7841.0000.3150.7630.7740.6440.900
0.8880.6851.0000.8750.8820.7980.951
0.5300.2370.1251.0000.5150.3600.735
0.5150.2260.1180.4851.0000.3460.723
0.6670.3560.2020.6400.6541.0000.832
0.2890.1000.0490.2650.2770.1681.000

X4 R(4)

1.0000.4230.0880.0950.2100.2300.225
0.5771.0000.1170.1250.2660.2890.283
0.9120.8831.0000.5200.7330.7550.750
0.9050.8750.4801.0000.7170.7400.735
0.7900.7340.2670.2831.0000.5290.522
0.7700.7110.2450.2600.4711.0000.493
0.7750.7170.2500.2650.4780.5071.000

X5 R(5)

1.0000.4420.4030.2710.2950.2320.122
0.5581.0000.4600.3200.3460.2770.150
0.5970.5401.0000.3560.3830.3100.171
0.7290.6800.6441.0000.5290.4480.273
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0.7050.6540.6170.4711.0000.4190.250
0.7680.7230.6900.5520.5811.0000.316
0.8780.8500.8290.7270.7500.6841.000

(1)
XIX2x3x4x5

12767729.00
21326618.00
32411513.00
43142313.00
55553422.00
64235216.00
71674119.00

(1)
313.0000
413.0000
616.0000
218.0000
719.0000
522.0000
129.0000
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(1) U={ug,Uz, ,Un}
(2) V={v1,Vo, i}
(3) U F(V)

f:U - F(V),0y QU

= f(ui):ri_1+ri_2+A+ri_m

U
ViV, Vi

0<rjj<1,1<i<n,1<jsm

f
|]‘ll r12 A rlm D
U
R — %21 r22 A r2m D
A A A AU
L 0
m-nl rn2 A rnm D
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R (U,V,R)
(4) U
U
. =1
A=(aj,a,, ,a,) gla'
R A B=AoR
Bz(blvb21 1bm) V
b :El(ai 0r;) (j:1,2, ’m)
Sy 1
=
4
R A
DPS
R A
2.DPS
( R)
( A)
U :U={
} V={ v}
( )
DPS
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(

A=(0.3,0.2,0.2,0.2,0.1)

30-5
\

0.45 0.25 0.2 0.1

0.50 0.40 0.1 0.0

0.30 0.40 0.2 0.1

0.40 0.40 0.1 0.1

0.30 0.50 0.1 0.1

0.30 0.20 0.2 0.2 0.1

30-5
R) (

A) “
35.29%," ” 29.41%," ” 23.53%

11.76%
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1.
nof- R ooCBT- oo~ R oDoOOf-
AR=B AR=B
DPS
( 1983) XoR=B
My Mo A 10
a
ro A Tom
(xl,xz,...,xn)xgil f A Z B=(bl,b2,...,bm)
M T2 A rnm[[|
l
| (rll |:|Xl) D(er DXZ)D...D(rnl DXn) = bl
@(rlz DXl) D(rzz DXz)D...D(rnZ DXn) = b2
l:l e “es cen sas e “es
Flrim O%1) O(rom Ox2) 0. O(rm OX,) = by,
(1 B A
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(3)
UR=(urq,ur,, ,urp)

(4)

j b, R
fj <b Tij ®

oo 59

o
(5

i UR;

(6)
(7)

| =

NV
| ol

~— ~—

~—~ ~
_
=)

S

—~ o~
S S|
NIV
T| O
SN N
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DPS

2.DPS
30-6
50
0.04 |0.30 |0.40 [0.26
(X1)
0.24 |0.28 |0.28 |0.20
(X2)
0.10 |0.34 |0.40 [0.16
(X3)
0.02 |0.26 |0.40 [0.32
(X4)
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0.13 |0.28 [0.42 |0.17

(X5)
0.14 |0.27 [0.30 |0.29

(X6)
0.03 |0.14 (042 |0.41

(X7)
0.15 |0.29 [0.34 |0.22

U
30-6
Xi

0.2200<--x(1)-->0.22000.1325
0.1500<--x(2)-->0.15000.0904
0.2900<--x(3)-->0.29000.1747
0.0000<--x(4)-->0.22000.1325
0.3400<--x(5)-->0.34000.2048
0.0000<--x(6)-->0.22000.1325
0.0000<--x(7)-->0.22000.1325
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A
B R
A
A R R
DPS
‘]={ A11A21 ,An}
{AllAZl aAn} AI
DA]_OR— Bl
R=B
@Az 0 2
[ EEEEERITE
X A R HA, oR= B,
A

(A.B)=5[A.B+a-A 8]
B ALA, A,
X*
2.DPS

XoR

B
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(1)

30-7

U , }
V={ s }

\
0.2 0.7 0.1 0.0
0.0 0.4 0.5 0.1
0.2 0.3 0.4 0.1
0.0 0.8 0.2 0.0

30-7

(2) (A)
30-8

Citrl
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0.2 0.50 0.30
0.5 0.30 0.20
0.2 0.30 0.50
0.7 0.25 0.05
30-8
( R)
A
1 =0.6500
2 =0.7000
3 =0.6000
4 =0.8000
=0.7000
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3 =0.0500

x*
X*=(0.7,0.25,0.05)

1987 1 19 1987 2 15
2000 6 2
2000 6 15
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10
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)

(

)

(

)

(

)
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2003

2003
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8.97

15.5% 9.68%
3.49
19.8% 8.41%
2.02 23.5% 19.74%
3.46 7.6% 6.05%
37.5 21.1
41.4 2003 38.9 22.5 38.6
9645
6390 480 8.1%
5516.81 1.5%
30% 4046
330 8.9% 2439
14 1% 27% 4.8
100%
98.4 90
82.5 1.45
5

3000



131

1475

132 28
20 100%
15 1
3 1
1 1 2
100% 2
21 /
78%
112.8 1.16
68.9%
78
3.5 90%
38 1 305
120 479
352 115 1
13 1
10 12 145

197
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79.5%

280 187
287 249
2003 35
146

2209
2393

68.2
1714
2030
31

2003

51
63.3%

2000 “ 1487

2003

66.79
86.76
203
23.31

70% 100%
80% 3452

344
235
19.5%
32.3%
3123

5448 85
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1.58 2650 276

9.43% 170
9603 42
0.44% 136 29
2 2
41 41 79
17 42
42 1 2003
562 18
3.31% 113 11
10.78% 1349 453
2 1 1
112.42
46.5%
4 3
1423.25
GDP 1.65% 21.01%
100%

100%
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2004



135

2004

00
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137
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11
13
”
” 13
”
”
13
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2001

[2001]10
1
1277709.1m2 47.73
m2/ 825
874488m2
285820m2 905164m2
4 1 2
26772 7252 16393
2 18809.3
13.95 /
30.40 /
20.47  /
16.31  / 11.04 /
3 97575.07
15304.95
3529.7 11775.25
88012.77

17456.76
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4 24093
4465 19628
596 4163 10547
4985 12345 6071
1
26772
1277709.1m2
825
177 188 226 234
160 24%
18809.3 3382.3 22%
23645
828 12%
13.95 / 2.11 / 17%
5.38 / 1.81
2.62 / 1.64
/
97575.07
10478.07 12%
15304.95 3381.95
11775.25 3551.25
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20877

537 1000 2591
16749 18809.3
1189 3001
6032 6096 600
1891.3
6% 16% 32% 32% 3% 10%
4
24093
692 4465 304
19628 388
596 4163
10547 131 503
794
4985 12345 6071
1
1277709.1m2
47.72m2 612.82m2
290.71m2 87.17m2
25.29m2
20887 874488m2
0.78

825
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177 188 226
234
2
18809.3
13.95( / ) 30.40 7/
20.47 / 16.31  /
11.04 7
[2000]11
40—60 7/
40 7/ 30 7/ 20
/ 26.05  /
19.6 7/ 19.53  /
13.69  / 8.96 7/
17456.75
833.49 1481.8
2685.72 12455.75
3
88012.77 5922.34
12779.85 20862.19
48449 .39
4
1 24093
4465 19628
1 4
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4985

1

12345

5
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00

3%
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